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L. 3 mwn: use of surplus nmop and method of paying workers
a. Surplus: they set aside the value of wages for 0mR and “redeem” nmop Mw1p on their wages
i.  Then: they pay mimr with the nmvp; they then take new funds and re-redeem (buy) nmop
ii.  Then: they pay nimr with that money
1. Challenge: they are redeeming wTpn with wTpn
2. Answer (8107 72 »”9): they take the funds and redeem them on the structure (built by nmx)
a. Thus: making that structure (or whatever else the nmr added/improved) wp
b. Then: they redeem the nmvp on those coins (which were temporarily 51n) and continue per n1wn
3. Question: what do they do with those funds (that were switched with n1yp and are now wmp)?
a. Answer (»27): given to 173 n>1 and p1VIR N’1 - the experts in making nMop and D90 on
i.  Note: this is only if the n™an owed them that amount at the time the myn were “switched”
b. Question (82 72 77n 77): if they didn’t owe them that amount, what was done?
i.  Answer: used for namb y»p
ii.  Observation: X192 7N "1 was unsure about using for nw "9, but sure about nam? y»p
4. Related dispute: if n10p was mixed in % "2
a. /720 73 2op 1. invalid
i.  Per: wnn vmp (v. 1) - must be created in wmp 3
b. 577 valid
i.  Per: nn v1p (v. 1) — must come from n3wHn nMIN
c. /1223723 70Y 7. N”an is similar to Y81NW and "2 to Ny 9, as follows:
i 7 D25 someone was W*Tpn his property and there were items in it that were fit for nam
1. i 7 reference is to items usable for nop
a. In other words: nvp may be prepared in 91 %) (like 5"27)
b. Rejection: this could be a member of ©1var n’a, who make the nmop
ii. 5% the spice-grinder was considered nw *9
1. Challenge: if n10p was made in nw »93, how could it be redeemed (per our mwn)?
2. Answer: this was a leniency nnan established for amn
a. Per: dispute - if there were P1nn left over after jon
i.  SNipw. redeemed as DN
ii.  pnmy 77z must let them get a i before redemption
iii.  Note: if there were goats left over (from M2 mron), YR1Nw would certainly allow
them to be redeemed as is —1"p from N9y
iv.  But: what would 1any "1 rule?
v.  771wr ’r he would have them graze (until they get a on etc.)
vi.  pny 3792 58w ‘1. they could be brought as namb y»p
vii.  Challenge: how can nRvn become n%1Y?
viii.  Answer: 112% N117p are only “assigned” at nvmw
ix. /707 itis a 7 2 RN that leftover 712% na9p are brought as m»y
b. 778 7% if 7R is a “full” month that year, all 112 n117p (including n7op) taken from new fund

www.dafyomivyicc.org 10 © Yitzchak Etshalom 2013




